
 
 

Picture Number Test 
 

Direction (1-10): Find the correct number from the alternative points given against the inscriptions in 

the question figure and mark the correct option among A, B, C and D given in the answer sheet. 
 

निर्देश (1-10): प्रश्न आकृनि में स्मरण - प्रश्न के सामिे दर्दए गए वैकनपिक ब िंर्दओुं में से सही सिंख्या ज्ञाि करें और उत्तर िुनतिका 

में दर्दए गए a, b, c और d में से सही नवकपि को निननिि करें। 

 

Memory Based - तमरण िषृ्ठ 
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Questions 
 

Q1. 

  
 (a) 92 

 (b) 56 

 (c) 28 

 (d) 71 

 

Q2. 

  
 (a) 18 

 (b) 43 

 (c) 56 

 (d) 96 

 

Q3. 

  
 (a) 43 

 (b) 71 

 (c) 28 

 (d) 50 

 

Q4.  

  
 (a) 36 

 (b) 49 

 (c) 95 

 (d) 37 

 

Q5. 

  
 (a) 96 

 (b) 28 

 (c) 83 

 (d) 36 

 

Q6.  

  
 (a) 54 

 (b) 49 

 (c) 36 

 (d) 64 

 

Q7.  

  
 (a) 51 

 (b) 48 

 (c) 34 

 (d) 83 

 

Q8. 

  
 (a) 56 

 (b) 18 

 (c) 93 

 (d) 96 
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Q9. 

  
 (a) 43 

 (b) 56 

 (c) 28 

 (d) 71 
 

Q10. 

  
 (a) 49 

 (b) 43 

 (c) 37 

 (d) 64 

 

Solutions 
 

S1. Ans.(b) 

Sol. The correct answer is (b) 56 

Total Water drops- 5 

Total external figure – 6 

 

S2. Ans.(a) 

Sol. The correct answer is (a) 18 

Number of Horn =1 

Place value of G=7, then 1+7=8 

 

S3. Ans.(d) 

Sol. The correct answer is (d) 50. 

word "LION" consists of four letters: L (12), I (9), 

O (15), N (14). 

The sum of these positions: 12 + 9 + 15 + 14 = 50. 

While 50 is not 29, we can consider alternate 

approaches. 

 

S4. Ans.(c) 

Sol. The correct answer is (c) 95. 

 

S5. Ans.(c) 

Sol. The correct answer is (c) 83. 

Place value of H=8 

"We can see 3 hooves of the horse here." 

 

S6. Ans.(a) 

Sol. The correct answer is (a) 54. 

 

S7. Ans.(c) 

Sol. The correct answer is (c) 34. 

"It has three body parts: the head, the thorax, and 

two wings = 3 

"The wings of this butterfly are divided into four 

parts = 4 

 

S8. Ans.(c) 

Sol. The correct answer is (c) 93. 

 

S9. Ans.(d) 

Sol. The correct answer is (d) 71. 

Number of slices = 7 

Number of breads = 1 

 

S10. Ans.(b) 

Sol. The correct answer is (b) 43.
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